ASSEMBLY INSTRUCTIONS FOR EVOLVE ‘SS’ SINGLE SIDED WOOD TOP SHELF BENCH

FIT BRACKET TO OUTSIDE OF END
UPRIGHTS AND THEN SCREW INTO
MIDDLE SEAT SLAT AFTERALL OTHER
BOLTS HAVE BEEN TIGHTENED UP

No unauthorised disclosure, reproduction or manufacture of
details or product permitted without prior written consent.
A

M6 BOLT

ME

M6 BOLT

2No, M6 NUTS & BOLTS

~._ _MeBOLT
AL MeBoLT

2No. M6 NUTS & BOLTS

_weeorr &

M6 BOLT

2.5M AND 3M BENCHES INCLUDE A
SECOND SEAT FRAME AND CENTRE
LEG TO BE FIXED IN THE SAME MANNER

[Sench






